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AN AEASD
A UMY X A DB (SYMSLA/UL - ME)
el XIAOISE MBTEEY X7 (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
201 ¢er24| 30,000 0 30,000
01 ArR 22l 30,000 0 30,000
OZENAMEANATZ 28 S 30,000
202 044l 5,000 0 5,000
01 SLHOYI 5,000 0 5,000
OZ3AMALHA AT = 5,000
20208 CHEtel =2 At Esherets i (2OHEEX) 1,000,000 0 1,000,000
308 MtXIEHMSOIH 1,000,000 0 1,000,000
01 AXHHILEES 1,000,000 0 1,000,000
odg 2stetE sl 1,000,000
NEotsset Adagiigr 25 186,160 142,099 44,061
= 143,200
< 42,960
AEFGAHE HL(2D) 186,160 142,099 44,061
= 143,200
< 42,960
403 XHXISHAI S X =0 & 186, 160 142,099 44,061
= 143,200
< 42,960
01 XM A=LE L 186,160 142,099 44,061
CNELEEPTEE 186,160
= 143,200
= 42,960
AT AS3 11,444,871 12,122,546 AB77.,675
= 5,029,890
=) 6,414,981
FOASE NJAAY F=&H 267,000 267,000 0
201 24l 3,000 3,000 0
01 AFR2t2lHl 3,000 2,000 1,000
OUTASZ20F S2a MY 3,000
202 044l 9,000 9,000 0
01 SLHOIYI 9,000 9,000 0
OFULSXNHEAMY XN & 0l 9,000
307 21201 & 212,000 212,000 0
02 HAHFHYANEEX 12,000 12,000 0
OUIT=AHXN SEXE 12,000
04 QIZHHALALS B = 200,000 200,000 0
ORM53 23 &L= =M &0t 200,000
308 MXIEHSOIH 43,000 43,000 0
01 HXNHHNBHEELS 43,000 43,000 0
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AN AEASD
M ZAMO X A DS (SUMLLA/AY - AE
el AR ASE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLtAar MANE =0l 13,108
= 9,040
< 4,068
Aatg A4S XA (=1) 285,679 271,015 14,664
= 197,020
= 88,659
308 XXM SOIA 285,679 271,015 14,664
= 197,020
< 88,659
01 X HHBILEES 285,679 271,015 14,664
oguE 433 XA 285,679
= 197,020
< 88,659
HSFAAS T 22 (=212) 290,122 245,563 44,559
= 257,070
< 33,052
403 MHXISHE X201 H 290,122 245,563 44,559
= 257,070
< 33,052
01 X EHHMA=ZLE L 290,122 245,563 44,559
Oz &d L= THei2el 290,122
= 257,070
< 33,052
A XS MACT(Z21) 1,531,527 1,072,642 458,885
= 1,192,591
= 338,936
403 MtXISHH S =0l & 1,531,527 1,072,642 458,885
2 1,192,591
S 338,936
01 AXSHMA2E X 1,531,527 1,072,642 458,885
OUFHESMMHAT =4 1,531,527
= 1,192,591
< 338,936
AR EEHFIEI(=21) 1,694,954 1,578,249 116,705
= 1,301,428
< 393,526
403 XIS E X201 & 1,694,954 1,578,249 116,705
= 1,301,428
< 393,526
01 X SHHAN2E= 1,694,954 1,578,249 116,705
ot =gdgeil =4 1,694,954
= 1,301,428
< 393,526
AAE MAMIIBIEH(=1D) 45,562 154,564 A 109,002
= 31,422
< 14,140

~




A MEASH
M QA JIX HIOS (sHMLA/AH - AE)
ool ME XY ASE EERED
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 UHXSHHSA=0l& 45,562 154,564 A 109,002
= 31,422
< 14,140
01 X SHMA2E X 45,562 154,564 A 109,002
OYMS MWadigtxd 45,562
= 31,422
< 14,140
AME RSIIBEH (=) 251,276 220,873 30,403
= 173,294
< 77,982
403 MtXISHHE X201 & 251,276 220,873 30,403
= 173,294
< 77,982
01 XM A=2EE 251,276 220,873 30,403
ogdtEs RSJIg =4 251,276
=2 173,294
< 77,982
MARNSERSHH(Z1) 336,000 1,050,000 A 714,000
=2 300,000
< 36,000
403 A X EHHS =0l A 336,000 1,050,000 A714,000
=2 300,000
< 36,000
01 X SHHMA=2LE L 336,000 1,050,000 A 714,000
OMXEERSHH =4 336,000
= 300,000
< 36,000
B2 FAUXA(=2) 1,294,386 1,293, 141 1,245
= 1,192,198
< 102,188
403 X SHHSA=0l& 1,294,386 1,293, 141 1,245
= 1,192,198
< 102,188
01 X SHMA=2E X 1,294,386 1,293, 141 1,245
OS2 FUAS X 1,294,386
= 1,192,198
< 102,188
S22 ASZARE N2 (=1) 527 0 527
= 527
308 XXM SOIA 527 0 527
= 527
01 AXHHILEES 527 0 527
OMSHA £SALE XY 527
=2 527
SHHE SEH¢=5(2E)(=21) 5,000 5,000 0




SH ARAST
M QA JIX HIOS (sHMLA/AH - AE)
Sel MBI ASE (29l 8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 5,000
202 oddl 5,000 5,000 0
= 5,000
01 = LH 4 bl 5,000 5,000 0
O=HE& S22l ol 5,000
= 5,000
SWHE BE2Hs N (=) 5,000 5,000 0
= 5,000
308 AXIEH S0l A 5,000 5,000 0
= 5,000
01 IXNSHHBANEES 5,000 5,000 0
O=2M3 s&2c g2FAH 5,000
= 5,000
SHoISHHZAR2E(=2) 15,990 15,990 0
= 12,300
< 3,690
308 XX EHH SOl A 15,990 15,990 0
2 12,300
< 3,690
01 AXSHBLELS 15,990 15,990 0
O=STHOIEZHUZAIAY 2EXA 15,990
= 12,300
< 3,690
SHUI LYY 23 (FL)(2D) 223,440 294,000 A70,560
- 159,600
< 63,840
403 XAXISHHM S X201 223,440 294,000 AT70,560
= 159,600
< 63,840
01 XXM A2E = 223,440 294,000 AT70,560
OSWEABUY(XHAR) 22 223,440
= 159,600
< 63,840
SHEAFUY 2Z(FUBAE)(2D) 7,800 13,000 A5,200
= 6,000
< 1,800
403 XIS S X201 & 7,800 13,000 25,200
= 6,000
< 1,800
01 XM A=2EE 7,800 13,000 25,200
SN LA (FUHIYE) B2 7,800
= 6,000
< 1,800
SHASALESE U (21) 92,000 224,000 A 132,000
= 80,000




SH: MEASH
A UMY X A DB (SYMSLA/UL - ME)
ool MEXE ASS CER-ED
o
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %l‘&ﬁ Hns2
= 72,000
403 XHXI €A S K= 0| & 92,000 224,000 £ 132,000
= 80,000
< 12,000
01 RXSAX =2 = 92,000 224,000 £ 132,000
OSTHAYAL BH3 X2 92,000
= 80,000
= 12,000
YeIINFY 23(22) 136,500 65,000 71,500
= 105,000
= 31,500
403 XX SIS K= 0l ™ 136,500 65,000 71,500
=2 105,000
= 31,500
01 X SHI 2= 136,500 65,000 71,500
M FY 23 136,500
= 105,000
< 31,500
sNees - BY BY 9,599,649 7,266,018 2,333,631
=2 1,110,652
2 4,360,000
= 4,128,997
NYSIESAL ZHBE 12,000 63,500 ~51,500
202 01t 12,000 12,000 0
01 2UH ol bl 12,000 12,000 0
ONYSFEUNS To22 AREE ol 12,000
SO BSIEY #A WA 20,000 30,000 £10,000
308 XX € X S0 & 20,000 30,000 £10,000
01 HXESHZA2ES 20,000 30,000 £10,000
OMSIH BHEHY B HHE 20,000
Saz =l 461,000 0 461,000
403 XHXI S+ A S X2 0| & 461,000 0 461,000
01 XA =2 = 461,000 0 461,000
OSLEZ I (EH) 50,000
OSUEHYI(FH) 130,000
OSUETUI(EY) 281,000
OlERIE e THBR (M) 192,400 0 192,400
403 XtXI S A S K= 0l ™ 192,400 0 192,400
01 XISHH X2 192,400 0 192,400
0YS BISUE0 ROIHHER TL(HH) 96,200
OSH HRE ROIHMER Z&(H8) 96,200
ESEEEINESED 1,102,400 0 1,102,400




2N
X ZH -
L= B

el

AP ASD
QALY X EH DS (SHL L/
NS BY BY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 1,102,400 0 1,102,400
01 AXISMA2E = 1,102,400 0 1,102,400
OEd 4= 572 =2 FHIALY (M &) 62,400
OStA Hea =2UFHHIAIY (M2 124,800
O&HN EIIXNF =L TUIAML(HE) 187,200
Ed Qg2 g2 =2 JHAMS(HE) 124,800
O 7004642 =L HUIAIY (X 2H) 187,200
OHZ LA =2AFUIAMY(HE 62,400
O%x= FU& =LFHANS (M 62,400
OLT AtH A =2AXUIALY (X E 104,000
OTE NI 2L =2LHUIAY (M) 83,200
OFH 2 =L HHIAE (M 104,000

NEMEOIE SYWUK(ZD) 256, 100 249,604 6,496
= 197,000
< 59,100

308 XXIEtH S0l A 256,100 249,604 6,496
= 197,000
< 59,100

01 IXNSHHBANEES 256,100 249,604 6,496
O EMENOIES 2 HUAM 256,100
= 197,000
< 59,100

MYAMHATR0 29 (21) 514,544 474,914 39,630
= 395,802
= 118,742

308 XXl EHH SOl A 514,544 474,914 39,630
= 395,802
= 118,742

01 AXSHBLELS 514,544 474,914 39,630
OME MEIAER0I 514,544
= 395,802
< 118,742

=oid 29(=2) 282,880 260,000 22,880
= 217,600
< 65,280

308 XXIEH SO0 A 282,880 260,000 22,880
= 217,600
< 65,280

01 AXNSHHBLAEES 282,880 260,000 22,880
=0l 29 282,880
= 217,600
< 65,280

20tzDs 23 (=231) 215,475 195,000 20,475
= 165,750




2N
X ZH -
L= B

el

AASD
Azl Jtxl 2D (s
22 5y B2

2 S 4
SN P S(EA) - HRAY - 0l &t o8 il HlnE2

< 49,725

308 AXIEH S0 A 215,475 195,000 20,475
2 165,750
< 49,725

01 IXNHHBNEES 215,475 195,000 20,475
ORlzns 29 215,475
= 165,750
< 49,725

gxs &2(=2) 119,600 59,800 59,800
= 92,000
< 27,600

308 XtXIEHH SOl A 119,600 59,800 59,800
= 92,000
< 27,600

01 AXHHBIYEES 119,600 59,800 59,800
ouExs 24 119,600
= 92,000
= 27,600

sl Mol HaS 55,250 110,500 A 55,250
= 42,500
< 12,750

403 HXSHHSA=0l& 55,250 110,500 A 55,250
= 42,500
< 12,750

01 X SHHMA=LE L 55,250 110,500 A 55,250
oz =M 55,250
2 42,500
< 12,750

AAAESe 248(=21) 4,368,000 2,080,000 2,288,000
as 3,360,000
< 1,008,000

403 MtXISHH S0l & 4,368,000 2,080,000 2,288,000
s 3,360,000
= 1,008,000

01 XM A=2EE 4,368,000 2,080,000 2,288,000
OFH=NHs 2 260,000
s 200,000
< 60,000
Ot AAMN KA F 143,000
ras 110,000
< 33,000
OHM DA AZT L 390,000
s 300,000
< 90,000
QJtel s & 260,000
as 200,000




2N
X ZH -
L= B

el

AASD
Qshaol JhX F D3
22 5y B2

=
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60,000
260,000

200,000
60,000

,275,000
, 750,000

525,000
390,000
300,000
90,000
130,000
100,000
30,000
130,000
100,000
30,000
130,000
100,000
30,000

H

—

SRR

—

,000,000

,000,000
,000,000

1,000,000

401 AIEHIZ 2 HYI

— = N

SANEY

,000,000

,000,000
,000,000

1,000,000

Hy oz
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©
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02
0

03 Al S THHI

O==0g8 &

FA
0x

EAEY

o

,993,000
,993,000

996,500
996,500

7,000
7,000

3,500
3,500

993,000

7,000

o

, 744,300

515,000

,229,300

2,029,300

65,000

65,000

403 THXI EHH S A=

65,000

65,000

65,000
65,000

65,000

,814,800

1,814,800

,814,800

1,814,800

P

,814,800
,294,800

520,000

1,814,800




2N
X ZH -
L= B

el

[z rx

YA ST
M JIX DB (SN F/LY - ME
2 ME - 2F Jls 5T

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SSHEY 24 (M8 195,000 0 195,000
403 UHXISHHSA=0l& 195,000 0 195,000
01 XM= E L 195,000 0 195,000
OMHN ZSHFIZHL (M) 195,000
ADLEJIEZE SXAE(21) 19,500 0 19,500
= 15,000
< 4,500
403 MtXISHH S =0l & 19,500 0 19,500
= 15,000
= 4,500
01 XM A2E X 19,500 0 19,500
OFE& ANENE=SEIAY 19,500
= 15,000
< 4,500
AFR =4 (=212) 650,000 0 650,000
= 500,000
< 150,000
403 XIS E X201 E 650,000 0 650,000
= 500,000
< 150,000
01 XXM 22 = 650,000 0 650,000
O&UWEA =4 650,000
= 500,000
< 150,000
BAEd 0 X4 57,581,703 41,612,707 15,968,996
= 45,727,540
< 11,854,163
EBAS4R S ZSAY F=X 4,000 4,000 0
201 £B-2dH| 1,000 1,000 0
01 At 22l 1,000 1,000 0
OEAEs+d = &MY 1,000
202 o4dl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OEAELE 2O ALEA 3,000
AlSUMAL X 10,000 10,000 0
201 et 7,000 6,000 1,000
03 &Ar2 I 7,000 6,000 1,000
OAZUAA 2H =257 7,000
301 LEEd = 3,000 4,000 A 1,000
09 SALEHIX A S 3,000 4,000 A 1,000
OAS LA HIA 24 S 3,000




2N
X ZH -
L= B

el

-

o rx b~
4> 0u Jin

1o

_J[0|| o

o

B b
0x KJ
tol
o
o
%
02
1>
[Pl
©
Q
=z
i

-~

moy rx
B~ o g

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

REMAD|BIEAH (2 1) 5,981 5,586 395
= 5,300
= 681

403 XX S S K201 A 5,981 5,586 395
= 5,300
= 681

01 HXHNMAHESEE = 5,981 5,586 395
OEIM et 5,981
= 5,300
& 681

S2MA L THHIAIE (21) 117,000 0 117,000
= 90,000
= 27,000

403 XX S M S K201 A 117,000 0 117,000
= 90,000
< 27,000

01 MXHHNE2EE = 117,000 0 117,000
OMHIAIE (B2 S) 117,000
= 90,000
= 27,000

AQANEEHYE(2D) 110,570 0 110,570
2 85,000
o= 25,570

403 XtXISHH S K201 110,570 0 110,570
= 85,000
o= 25,570

01 AXHNMASE = 110,570 0 110,570
OLQAALSUF 110,570
= 85,000
== 25,570

AHMEZLE =2(22) 4,176,200 3,502, 160 674,040
= 4,176,200

202 04 d| 5,000 5,000 0
= 5,000

01 2L Y] 5,000 5,000 0
OXEAMY =X NE2S S 5,000
= 5,000

206 M = Hl 4,171,200 3,497,160 674,040
= 4,171,200

01 X2 Hl 4,171,200 3,497,160 674,040
23 S 4,171,200
= 4,171,200

AHMEZSE NA(2D) 5,937, 181 5,362,596 574,585
= 4,623,244
o= 1,313,937

no
|




2N
X ZH -
L= B

el

MRAST
2ALYO| X EH DB (SYHS /Y - o
BAS4E O X4

1]

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

403 XXM S X201 5,937,181 5,362,596 574,585
= 4,623,244
< 1,313,937

01 XXM A2E = 5,937,181 5,362,596 574,585
OZHE =4 5,937, 181
= 4,623,244
< 1,313,937

2URTEY =X (21) 991,848 479,274 512,574
= 991,848

206 M= Hl 991,848 479,274 512,574
= 991,848

01 = tl 991,848 479,274 512,574
227 991,848
= 991,848

ZU2xE N (212) 877,839 3,100,523 A2,222,684
= 451,268
= 426,571

403 Ut S E X201 H 877,839 3,100,523 A2,222,684
= 451,268
< 426,571

01 XXM A2 £ 877,839 3,100,523 A2,222,684
o2UR=xg 877,839
= 451,268
< 426,571

NEESZSE (2) 114,716 180,310 A 65,594
= 88,243
< 26,473

403 XAXISH M S K201 114,716 180,310 A 65,594
= 88,243
< 26,473

01 XXM A2E = 114,716 180,310 A 65,594
OXNYEsxd 114,716
= 88,243
= 26,473

ORI M2 T (=1) 1,730,300 3,660,065 A 1,929,765
= 1,331,000
< 399,300

403 Mt S E X201 E 1,730,300 3,660,065 A 1,929,765
= 1,331,000
= 399,300

01 XM A=2EE 1,730,300 3,660,065 A 1,929,765
OOMEXNHZ =& 1,730,300
= 1,331,000
< 399,300

SEMEFIHI(=1) 3,379,444 2,370,000 1,009,444




2N
X ZH -
L= B

el

moy rx

o rx b~
4> 0u Jin

1o

B> o o
_J[0|| o

o

B b
0x KJ
tol
Ui
o
%
02
1>
[Pl
©
Q
=z

1]

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

= 2,007, 4474
< 385,000

403 XAXISHM S K201 A 3,379,444 2,370,000 1,009,444
= 2,994,444
< 385,000

01 XXM A2E = 3,379,444 2,370,000 1,009,444
OHEAHHF LR 3,379,444
= 2,994,444
< 385,000

MZ2IHA S FA(2) 4,884,454 0 4,884,454
= 4,884,454

206 M= Hl 4,884,454 0 4,884,454
= 4,884,454

01 MHZ 4l 4,884,454 0 4,884,454
=3¢ 4,884,454
- 4,884,454

MZTHA S22 XA (22) 4,094,321 0 4,094,321
= 2,022,296
= 2,072,025

403 Ut S S X201 & 4,094,321 0 4,094,321
= 2,022,296
< 2,072,025

01 XXM A=2E = 4,094,321 0 4,094,321
O« Z2IloHXl s2=8 XA 4,094,321
= 2,022,296
< 2,072,025

I RI| FA(=1) 5,000 10,000 A5,000
= 2,500
< 2,500

202 oddl 5,000 10,000 25,000
= 2,500
< 2,500

01 = LH o4 1l 5,000 10,000 A5,000
O=INFIANY =& NE=FAH 5,000
= 2,500
< 2,500

=M RI| NA(=12) 23,652,789 19,608, 669 4,044,120
= 18,194,452
= 5,458,337

403 MHXISHE X201 H 23,652,789 19,608, 669 4,044,120
= 18,194,452
< 5,458,337

01 AXSHMA=2EER 23,652,789 19,608,669 4,044,120
O&F M=) 23,652,789
= 18,194,452




2N
X ZH -
L= B

el

MRAST
2ALYO| X EH DB (SYHS /Y - o
BAS4E O X4

1]

SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
| = 5,258,337
22AEIIRI(Z21D) 5,075,024 3,299,524 1,775,500
= 3,929,571
< 1,145,453
403 IR SHHSA201H 5,075,024 3,299,524 1,775,500
= 3,929,571
< 1,145,453
01 XX SHMAA2E X 5,075,024 3,299,524 1,775,500
OZ224AEHIIRI| =8 5,075,024
= 3,929,571
& 1,145,453
OIHEX M2 & 2d=I1RI(=21) 2,415,036 0 2,415,036
= 1,857,720
& 557,316
403 ItXIHAM S K201 2,415,036 0 2,415,036
= 1,857,720
& 557,316
01 XX SHMA2E X 2,415,036 0 2,415,036
o3d=IRD| 2,415,036
= 1,857,720
T 557,316
MERH =sMIZ2H X4 9,570,000 3,437,500 6,132,500
= 4,000,000
Dl 615,000
< 4,955,000
ME=sXlae BotegFEa 9,000 10,500 A 1,500
201 LEt2 Y| 5,000 6,500 A 1,500
01 AFR2t2l bl 5,000 5,000 0
OZAE &3, JIske =& 5,000
202 (4] 4,000 4,000 0
01 2L Y| 4,000 4,000 0
OME =20 ERFX oYl 4,000
OLELIE T Al= Gt=D| 18,000 0 18,000
308 AXISHMSOIA 18,000 0 18,000
01 AIXHMBAEEXZ 18,000 0 18,000
OEAN=32S A €= 18,000
AN HEZAl=ZH (X EH 3,728,000 0 3,728,000
403 ItXISH XS K201 3,728,000 0 3,728,000
01 X SHHMA2E X 3,728,000 0 3,728,000
O=MMNE XM (HE) 650,000
OdF s4MTE =4 130,000
OEfeH =MAMT = X4 130,000
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SA: M-AST
HE: UAMESIO] JIX| F DS (SSoHULSA/AA . AtZ)
Oel: MEM SMBI XY CER-ED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 3,500,000
& 1,050,000
403 XX SHHS K20 & 4,550,000 0 4,550,000
= 3,500,000
&< 1,050,000
01 XIS AE2E X 4,550,000 0 4,550,000
O=d OIMHXXESt= ZH(15ha/2EX}) 3,900,000
= 3,000,000
& 900,000
O=d DIMYXXSH=E XA (12ha/1ERH) 650,000
= 500,000
& 150,000
TAHEZ2E XM (=2D) 650,000 0 650,000
= 500,000
& 150,000
403 XX SHHS K20 & 650,000 0 650,000
= 500,000
== 150,000
01 XIS AZ2E X 650,000 0 650,000
OfF TAHIEHZ=E ZH(1YA) 650,000
= 500,000
= 150,000
AQHE =SM22F A (21) 615,000 0 615,000
J| 615,000
403 XX SHHS K20 & 615,000 0 615,000
J| 615,000
01 XIS A=2E X 615,000 0 615,000
O=2XNANEUs= 255,000
J| 255,000
OR&HMUsL 360,000
J| 360,000
M =XB2t &= 65,000 65,000 0
= 50,000
& 15,000
22X L2 (=21D) 65,000 65,000 0
= 50,000
& 15,000
403 XX SHS K20 & 65,000 65,000 0
= 50,000
= 15,000
01 XIS AZ2E X 65,000 65,000 0
O2=23 =4dzel 65,000
= 50,000
o= 15,000
MOt BAS =T 3,052,000 432,000 2,620,000




2N
X ZH -
L= B

el

NEAST
2asaiol Jhxl 2D (s
A PIRYR FX

o
%
02
4>
[P
~
0o
Q
=z
I

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oA AR =4 22,000 22,000 0
201 £B-2d| 7,000 7,000 0
01 At 22l 7,000 4,000 3,000
OMot BB U MEFHIHAD 29 4 7,000
202 o4dl 15,000 15,000 0
01 2LHO! | 15,000 5,000 0
o4tz U MEFH A2XZ 15,000
Arorata 2435t 2,000,000 0 2,000,000
401 AIEHI L 2 CHYI 2,000,000 0 2,000,000
01 A& HI 1,992,800 0 1,992,800
OfsAF Mz THAY (R =) 1,992,800
03 Al 2 THHI 7,200 0 7,200
O S At Motz ZHAY (RS =) 7,200
ASE MHEFE XY 1,030,000 410,000 620,000
201 Lt 20,000 0 20,000
01 At 22l 20,000 0 20,000
OYAGTH MEZE 59 20,000
202 04l 4,000 0 4,000
01 2LH ot bl 4,000 0 4,000
OASE MEZSY ZHAY 4,000
401 Al HIZ 201 Y] 1,006,000 410,000 596,000
01 A& HI 1,000,000 400,000 600,000
OALSE MEFEH ZHAMY 1,000,000
03 Al S HHI 6,000 10,000 A4,000
OASE MEFEY ZTHAY 6,000
BHSAAY (M ASH)(JIEHIIE) 216,082 166,231 49,851
= 61,702
< 154,380
ol 2d | 143,920 94,373 49,547
= 61,702
= 82,218
MRE FYIE 0BRE AH NV(21) 143,920 94,373 49,547
= 61,702
< 82,218
101 @124l 143,920 94,373 49,547
= 61,702
< 82,218
03 RIHAZZ N E =+ 143,920 94,373 49,547
QJ1E= 1,912,610 x4F +12& 91,806
= 61,702




SH ARAST
M HES2GFY (MR LAS)(JIEHIIE
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 30,104
o0z=2+ 91,806,000 *1/12%50% 3,826
otEs¢ 20,000 x5 123 1,200
O¢RSFII=E 82,340 x4 x 15 4,941
O &E =l 91,806,000 «1/12& 7,651
O=Altl 130,000 x4H 128 6,240
Ounstl 100,000& »4H x12& 4,800
oOs&Es I 7,000,000& 7,000
OHASREI(UUHEER) 102,846,000 *16% 16,456
Jl2&dl 72,162 71,858 304
EM29 Jl=2Z 4l 72,162 71,858 304
201 et 45,462 43,458 2,004
01 At 22l 45,462 43,158 2,304
ORAN2Y AtR22ltl 45,462
202 (4 Hl 15,300 15,000 300
01 =LHOIHI 15,300 15,000 300
FNM2E S WAL 15,300
203 &2 = bl 11,400 11,400 0
01 1228 =4H 6,600 6,600 0
o=% 6,600,000& 6,600
04 EA2IYRFEH| 4,800 4,800 0
©302! Olct 400,000& 128 4,800




